User Manual

FPM-212/215/217
Series

12" XGA/15" XGA/17" SXGA
Industrial monitor with
Resistive Touch screen,

VGA ,DP or HDMI Display Port,
and DC12 V input

AN as

T TR IR A
Sk« ST PSR 26 %
20 7 1 5%

FE=E 1 02-27927818

Enabling an Intelligent Planet



R 7 FRETEP S

Declaration of the Presence Condition of the Restricted Substances Marking

WHE LA AR 5 (315Y) 0 ppMma2l2
Equipment name Momtor Type designation (Type)

R B AR

Restricted substances and its chemical symbols

H = Unit . ,% & s ame T “{ﬁ;\
i-Lead | 7k Mercury | 45Cadmium | Hexavalent |Polybrominated Polybrominate
(Pb) (Hg) (Cd) chromium biphenyls d iﬁ’l};‘;:yl
+6
(Cr™) (PBB) (PBDE)
T B o 5 5 5
TR B O o 5 S
NS
(VA p e %) O ® O 5 5
Ho EHg it
I S5 1 - o o 5 5

OlO[O|10 [0 |0|0

=3
5
i
=
W
O
O

O O

31 TR N0IwtR” 2 42 210.01 Wt%” g PR A RN A T EARE o
Note 1 : “Exceeding 0.1 wt %” and “exceeding 0.01 wt %” indicate that the percentage content of the restricted substance exceeds the reference percentage value of
presence condition.

F42. 70" BhPE T F LA FRARNT A FEARE -

Note 2 : “o” indicates that the percentage content of the restricted substance does not exceed the percentage of reference value of presence.

BE3 N BT AR

Note 3 : The “—” indicates that the restricted substance corresponds to the exemption.




R 7 FRETERS

Declaration of the Presence Condition of the Restricted Substances Marking

R HE LA A E 5. (2155) ¢ ppMma21s
Equipment name Momtor Type designation (Type)

R B AR

Restricted substances and its chemical symbols

H = Unit . ,% & s ame T “{ﬁ;\
i-Lead | 7k Mercury | 45Cadmium | Hexavalent |Polybrominated Polybrominate
(Pb) (Hg) (Cd) chromium biphenyls d iﬁ’l};‘;:yl
+6
(Cr™) (PBB) (PBDE)
T B o 5 5 5
TR B O o 5 S
NS
(VA p e %) O ® O 5 5
Ho EHg it
I S5 1 - o o 5 5

OlO[O|10 [0 |0|0

=3
5
i
=
W
O
O

O O

31 TR N0IwtR” 2 42 210.01 Wt%” g PR A RN A T EARE o
Note 1 : “Exceeding 0.1 wt %” and “exceeding 0.01 wt %” indicate that the percentage content of the restricted substance exceeds the reference percentage value of
presence condition.

F42. 70" BhPE T F LA FRARNT A FEARE -

Note 2 : “o” indicates that the percentage content of the restricted substance does not exceed the percentage of reference value of presence.

BE3 N BT AR

Note 3 : The “—” indicates that the restricted substance corresponds to the exemption.




R 7 FRETERS

Declaration of the Presence Condition of the Restricted Substances Marking

A %v{ ( ~\ )
Type designation (Type)

WA LR TR

Equipment name Momtor FPM-217

SR T

Restricted substances and its chemical symbols

H = Unit 4 R LS iﬁ:?%
i-Lead | 7k Mercury | 4§ Cadmium Hexavalent | Polybrominated Polybrommate
(Pb) (Hg) (Cd) chromium biphenyls d i{i}g;‘yl
+6
(Cr™) (PBB) (PBDE)
TR _ O O O O O
b B AF _ O O O O O
N
G s poamgeae O O O O O O
_ﬁ_ PN B 5 P ;l»
(S‘»U*F] {"%1 v ) - O O O O O
K} - O O O O O
i il — O O O O O
TR R O O O O O

AL 401wt R” %
Note 1 :

presence condition.

%42 NO7 BEEAUY F LT

Note 2 : “0”

30

JARIS /‘

g 001wt%”l«#ﬁﬂ*4v?

BT AR

indicates that the percentage content of the restricted substance does not exceed the percentage of reference value of presence.

— AP AR

Note 3 : The “—” indicates that the restricted substance corresponds to the exemption.

A

FAv RN A P EANE -

“Exceeding 0.1 wt %” and “exceeding 0.01 wt %” indicate that the percentage content of the restricted substance exceeds the reference percentage value of




The documentation and the software included with this product are copyrighted 2013
by Advantech Co., Ltd. All rights are reserved. Advantech Co., Ltd. reserves the right
to make improvements in the products described in this manual at any time without
notice. No part of this manual may be reproduced, copied, translated or transmitted
in any form or by any means without the prior written permission of Advantech Co.,
Ltd. Information provided in this manual is intended to be accurate and reliable. How-
ever, Advantech Co., Ltd. assumes no responsibility for its use, nor for any infringe-
ments of the rights of third parties, which may result from its use.

Intel and Pentium are trademarks of Intel Corporation.
Microsoft Windows® are registered trademarks of Microsoft Corp.
All other product names or trademarks are properties of their respective owners.

This manual includes the following products:

FPM-212-R8AE

FPM-212

FPM212R8A2001-T, FPM212R8A2002-T, FPM212R8A2003-T,
FPM212R8A2004-T, FPM212R8A2005-T, FPM212R8A2006-T,
FPM212R8A2101-T, FPM212R8A2102-T, FPM212R8A2103-T,
FPM212R8A2104-T, FPM212R8A2105-T, FPM212R8A2106-T,
FPM212R8A2201-T, FPM212R8A2202-T, FPM212R8A2203-T,
FPM212R8A2204-T, FPM212R8A2205-T, FPM212R8A2206-T,
FPM212R8A2301-T, FPM212R8A2302-T, FPM212R8A2303-T,
FPM212R8A2304-T, FPM212R8A2305-T, FPM212R8A2306-T,
FPM212R8A2401-T, FPM212R8A2402-T, FPM212R8A2403-T,
FPM212R8A2404-T, FPM212R8A2405-T, FPM212R8A2406-T,
FPM212R8A2501-T, FPM212R8A2502-T, FPM212R8A2503-T,
FPM212R8A2504-T, FPM212R8A2505-T, FPM212R8A2506-T,
FPM212R8A2601-T, FPM212R8A2602-T, FPM212R8A2603-T,
FPM212R8A2604-T, FPM212R8A2605-T, FPM212R8A2606-T,

FPM-215-R8AE

FPM-215

FPM215R8A2001-T, FPM215R8A2002-T, FPM215R8A2003-T,
FPM215R8A2004-T, FPM215R8A2005-T, FPM215R8A2006-T,
FPM215R8A2101-T, FPM215R8A2102-T, FPM215R8A2103-T,
FPM215R8A2104-T, FPM215R8A2105-T, FPM215R8A2106-T,
FPM215R8A2201-T, FPM215R8A2202-T, FPM215R8A2203-T,
FPM215R8A2204-T, FPM215R8A2205-T, FPM215R8A2206-T,
FPM215R8A2301-T, FPM215R8A2302-T, FPM215R8A2303-T,
FPM215R8A2304-T, FPM215R8A2305-T, FPM215R8A2306-T,
FPM215R8A2401-T, FPM215R8A2402-T, FPM215R8A2403-T,

FPM-212/215/217 series



FPM215R8A2404-T, FPM215R8A2405-T, FPM215R8A2406-T,
FPM215R8A2501-T, FPM215R8A2502-T, FPM215R8A2503-T,
FPM215R8A2504-T, FPM215R8A2505-T, FPM215R8A2506-T,
FPM215R8A2601-T, FPM215R8A2602-T, FPM215R8A2603-T,
FPM215R8A2604-T, FPM215R8A2605-T, FPM215R8A2606-T,

FPM-217-R8AE

FPM-217

FPM217R8A2001-T, FPM217R8A2002-T, FPM217R8A2003-T,
FPM217R8A2004-T, FPM217R8A2005-T, FPM217R8A2006-T,
FPM217R8A2101-T, FPM217R8A2102-T, FPM217R8A2103-T,
FPM217R8A2104-T, FPM217R8A2105-T, FPM217R8A2106-T,
FPM217R8A2201-T, FPM217R8A2202-T, FPM217R8A2203-T,
FPM217R8A2204-T, FPM217R8A2205-T, FPM217R8A2206-T,
FPM217R8A2301-T, FPM217R8A2302-T, FPM217R8A2303-T,
FPM217R8A2304-T, FPM217R8A2305-T, FPM217R8A2306-T,
FPM217R8A2401-T, FPM217R8A2402-T, FPM217R8A2403-T,
FPM217R8A2404-T, FPM217R8A2405-T, FPM217R8A2406-T,
FPM217R8A2501-T, FPM217R8A2502-T, FPM217R8A2503-T,
FPM217R8A2504-T, FPM217R8A2505-T, FPM217R8A2506-T,
FPM217R8A2601-T, FPM217R8A2602-T, FPM217R8A2603-T,
FPM217R8A2604-T, FPM217R8A2605-T, FPM217R8A2606-T,

Part No. XXXXXXXXXXXXX Edition 1
Printed in China Sep. 2020

FPM-212/215/217 series



Advantech warrants to you, the original purchaser, that each of its products will be
free from defects in materials and workmanship for two years from the date of pur-
chase.

This warranty does not apply to any products which have been repaired or altered by
persons other than repair personnel authorized by Advantech, or which have been
subject to misuse, abuse, accident or improper installation. Advantech assumes no
liability under the terms of this warranty as a consequence of such events.

Because of Advantech’s high quality-control standards and rigorous testing, most of
our customers never need to use our repair service. If an Advantech product is defec-
tive, it will be repaired or replaced at no charge during the warranty period. For out-
of-warranty repairs, you will be billed according to the cost of replacement materials,
service time and freight. Please consult your dealer for more details.

If you think you have a defective product, follow these steps:

1. Collect all the information about the problem encountered. (For example, CPU
speed, Advantech products used, other hardware and software used, etc.) Note
anything abnormal and list any onscreen messages you get when the problem
occurs.

2. Call your dealer and describe the problem. Please have your manual, product,
and any helpful information readily available.

3. If your product is diagnosed as defective, obtain an RMA (return merchandize
authorization) number from your dealer. This allows us to process your return
more quickly.

4.  Carefully pack the defective product, a fully-completed Repair and Replacement
Order Card and a photocopy proof of purchase date (such as your sales receipt)
in a shippable container. A product returned without proof of the purchase date is
not eligible for warranty service.

5. Write the RMA number visibly on the outside of the package and ship it prepaid
to your dealer.

FPM-212/215/217 series



Note: This equipment has been tested and found to comply with the limits for a Class
A digital device, pursuant to part 15 of the FCC Rules. These limits are designed to
provide reasonable protection against harmful interference when the equipment is
operated in a commercial environment. This equipment generates, uses, and can
radiate radio frequency energy and, if not installed and used in accordance with the
instruction manual, may cause harmful interference to radio communications. Opera-
tion of this equipment in a residential area is likely to cause harmful interference in
which case the user will be required to correct the interference at his own expense.

1. Visit the Advantech web site at www.advantech.com/support where you can find
the latest information about the product.

2. Contact your distributor, sales representative, or Advantech's customer service
center for technical support if you need additional assistance. Please have the
following information ready before you call:

- Product name and serial number
- Description of your peripheral attachments

- Description of your software (operating system, version, application software,
etc.)

- A complete description of the problem
- The exact wording of any error messages

FPM-212/215/217 series


http://www.advantech.com/support

N

10.
11.

12.
13.

15.

16.

A

Read these safety instructions carefully.
Keep this User Manual for later reference.

Disconnect this equipment from any AC outlet before cleaning. Use a damp
cloth. Do not use liquid or spray detergents for cleaning.

For plug-in equipment, the power outlet socket must be located near the equip-
ment and must be easily accessible.

Keep this equipment away from humidity.

Put this equipment on a reliable surface during installation. Dropping it or letting
it fall may cause damage.

The openings on the enclosure are for air convection. Protect the equipment
from overheating. DO NOT COVER THE OPENINGS.

Make sure the voltage of the power source is correct before connecting the
equipment to the power outlet.

Position the power cord so that people cannot step on it. Do not place anything
over the power cord.

All cautions and warnings on the equipment should be noted.

If the equipment is not used for a long time, disconnect it from the power source
to avoid damage by transient overvoltage.

Never pour any liquid into an opening. This may cause fire or electrical shock.

Never open the equipment. For safety reasons, the equipment should be
opened only by qualified service personnel.

If one of the following situations arises, get the equipment checked by service
personnel:

The power cord or plug is damaged.
Liquid has penetrated into the equipment.
The equipment has been exposed to moisture.

The equipment does not work well, or you cannot get it to work according to the
user's manual.

The equipment has been dropped and damaged.

The equipment has obvious signs of breakage.

DO NOT LEAVE THIS EQUIPMENT IN AN ENVIRONMENT WHERE THE
STORAGE TEMPERATURE MAY GO BELOW 0° C (32° F) OR ABOVE 50° C
(122° F). THIS COULD DAMAGE THE EQUIPMENT. THE EQUIPMENT
SHOULD BE IN A CONTROLLED ENVIRONMENT.

The sound pressure level at the operator's position according to IEC 704-1:1982
is no more than 70 dB (A).

DISCLAIMER: This set of instructions is given according to IEC 704-1. Advantech
disclaims all responsibility for the accuracy of any statements contained herein.

By means of a power cord connected to a socket-outlet with earthing connection.

Note!  This product is intended to be supplied by an UL certified power supply

or dc source suitable for use at minimum Tma 50 degree °C whose out-

I;—_! put meets SELV or ESI1, LPS or PS2 and is rated 12Vdc, 3A min., if

need further assistance, please contact Advantech for further informa-
tion.

FPM-212/215/217 series



Warning! If the customer user DC power by oneself for this product may cause the
radio interference in which case, the customer must take adequate

A measures.

Warning! If the customer needs to use power adapter, please use the power
adapter listed on the product datasheet. If the customer use the power
A adapter not listed on the product datasheet, it may cause the radio
interference in which case, the customer must take adequate
measures

Warning! Avoid exposing FPM-200 to direct sunlight for long periods of time. Direct

sunlight falling onto a LCD screen can cause it to become very hot and

A physically damage the LCD as the components are not designed to
tolerate high heat, shortening the life of the LCD.

Warning! The wire of the protective bonding conductor shall be green-and-yellow,

: 22 AWG /0.3 (mm2) min.

FPM-212/215/217 series



A

Lire attentivement les instructions de sécurité
Conserver ce manuel pour utilisation ultérieure

3. Débranchez cet équipement de toute prise secteur avant de le
nettoyer. Utilisez seulement un chiffon humide. N'utilisez pas de
détergent liquide ou pulvérisé pour le nettoyage.

4. Gardez cet équipement a l'abri de I'hnumidité.

5. Placez cet équipement sur une surface fiable pendant l'installation. Le
faire ou bien le laisser tomber peut causer des dégats.

6. Les ouvertures sur lI'enceinte servent a la convection de l'air.
Protégez I'équipement contre la surchauffe. NE COUVREZ PAS
LES OUVERTURES.

7. Assurez-vous que la tension de la source d'alimentation est
correcte avant de connecter I'équipement a l'alimentation.

8. Placez le cable d'alimentation de maniére a ce que personne ne
puisse marcher dessus. Ne placez rien sur le cable d'alimentation.

9. Toutes les mises en garde et tous les avertissements sur I'équipement doivent
étre notés.

10. Sil'équipement n'est pas utilisé pendant une longue période,
débranchez-le de la source d'alimentation pour éviter tout
endommagement d( a une surtension transitoire.

11. Ne jamais verser de liquide dans une ouverture. Cela pourrait provoquer un
incendie ou un choc électrique.

12. N'ouvrez jamais I'équipement. Pour des raisons de sécurité,
I'équipement doit étre ouvert uniguement par du personnel
gualifié.

13. Sil'une des situations suivantes se présente, faites vérifier
I'équipement par le personnel de service:
B Un liquide a pénétré dans I'équipement.
B L'équipement a été exposé a I'humidité.
B L'équipement ne fonctionne pas bien, ou vous ne pouvez pas le

faire fonctionner selon le manuel de l'utilisateur.

B L'équipement est tombé et endommageé.
B L'équipement présente des signes évidents de rupture.

14. NE LAISSEZ PAS CET EQUIPEMENT DANS UN ENVIRONNEMENT
OU LA TEMPERATURE DE STOCKAGE PEUT ETRE INFERIEURE
A -20° C (-4 ° F) OU BIEN SUPERIEURE A 60 ° C (140 ° F). CECI
POURRAIT ENDOMMAGER L'EQUIPEMENT. L'EQUIPEMENT
DEVRAIT ETRE DANS UN ENVIRONNEMENT CONTROLE.

15. ATTENTION: DANGER D'EXPLOSION SI LA BATTERIE EST
INCORRECTEMENT REMPLACEE. REMPLACER SEULEMENT
AVEC LE MEME TYPE OU EQUIVALENT RECOMMANDE PAR LE
FABRICANT, JETER LES BATTERIES USEES SELON LES
INSTRUCTIONS DU FABRICANT. VEUILLEZ CONTACTER LE
FABRICANT, ADVANTECH, POUR LE REMPLACER.

16. Le personnel concerné doit savoir qu'il ne faut pas heurter la section
d'angle de l'appareil afin d'éviter tout risque de blessure.

N

FPM-212/215/217 series



Remarquel! Ce produit est destiné a étre alimenté par une source
d'alimentation certifite UL ou par une source de courant
% continu adaptée a une utilisation a une température minimale
- de 50 degrés Celsius (Tma 50 ° C) et dont la sortie est
conforme a la norme SELV ou ES1, LPS ou PS2 et a une
tension nominale de 12Vcc, 3A min. assistance, veuillez

contacter Advantech pour plus d'informations.

Attention! Sil'utilisateur client utilise exclusivement I'alimentation en
courant continu pour ce produit, il peut provoquer des
A interférences radio, auquel cas, le client doit prendre les mesures
appropriées.

Attention! Sile client doit utiliser un adaptateur secteur, veuillez utiliser
I'adaptateur secteur figurant sur la fiche technique du produit. Si
A le client utilise un adaptateur secteur non répertorié dans la fiche
technique du produit, il peut provoquer des interférences radio,
auquel cas il doit prendre les mesures appropriee.

Attention! Evitez d'exposer le FPM-200 & la lumiére directe du soleil
pendant de longues périodes. Les rayons directs du soleil sur un
A écran LCD peuvent devenir trés chauds et endommager
physiquement I'écran car les composants ne sont pas congus
pour tolérer une chaleur intense, ce qui raccourcit la durée de vie
de I'écran.

Attention! MISE EN GUARD : le fil du conducteur de protection doit ? tre
verte et jaune, 22 AWG /0.3 (mm2) min.

FPM-212/215/217 series



1. L S frdiRgsE b e iRy -
2. BRERFIAPTMHtHEZSS -
3. FRRARE AT > SRS IPREIRAR © 3B HRAG S RIS E T RA ek

4. BN RHEIRGHVRS - S5t B EVEA S SR TR BRI -

5. FEERRIRE SRR o

6. FEIELEEATHECRSH I B TN FE > BIMEE e S E B fia -

7. ESHAIBITLBE RN 22 R o (M R m el - BRI -

8. EVHEPE T EIRAEER] - EHERL BRIV E RSB -

9. FHHERGMHEEAMTADLEINME » SHEERS SEET MY -

10. 3525 LRTARTE SR -

L1, WIS ERFRENE R - A i PR R FE Y A » e on s (R A SR R R,

g -

12. BRI R AR > DA [REK SRS -

13. 557 B17HTBsMH o o THECRIEINZE S > 55 B M TS TAZAM A T s i

14. WE THIEN - FHHEZEASLEE -

B R EHETERE

B RENEAERERA

B Y REEERIRE A

B EHEOAIETE T/F - s A BB P F A EE TE

B AR EEEE

B XAEAHEINES

15. BB E A RS R SR E RS > BIARZERY 0°C (32 °F) &t

50°C (122°F) » BRIRE iSRG HIEE -

16. JXE  FHEMEHA LM - FAERIEGER - RIL - HnT DU 3 S pg R [
— e FEFRGRH BT - sE RSN H TS R R A

17. fR4% IEC 704-1:1982 HiE » #{FEFTEMIEE &N A= 70 70 H -

18. PRI 57Kk 2 AE T PRA R A -

19. EEY | FHLEIIRFFE IECT704-1 Z0K - WEE N EHH A 2 AR
YA VAR -

AR AEMED UL FEMERKERERELE  ERANRE Tma
. 50°C M4 SELV B ESL » LPS B¢ PS2 - ZHIEEEEA Ky 12Vdc > 3A
1= . ] N et ~

= min R R TRE S

FPM-212/215/217 series




A\ s

1. FEFEERMGERT

2. {1 30 sr##EER(RE 10 7738

3. Rim 2 e AR ER > 2 R LB RERR A EEE 1 /N

4. [HIHERE]
BEMEAE - LATEEMRE - RNEARE T ERE - AJREEEK
SPEIEE) - AR T > (EAE SR IR R E RIS

g ERE! WREFETAANELNFERER TGS R E T - fEEERE
N FEEOARIUEE G

AR WA T I EEACES A e R B T
‘ik 92 o W S R LR R RS A R 2 - AR
TRE T  [OEEEN T » ZEVEREUE S

R FRH FPM-200 RISMAGHEEHICT - EHILRHEE LoD 5
A FE L EEE LOD BGIEHALE LCO MR » BB Y
B FAER R LTI T LCD AV &

A ER! PREEEPHRAVEGE Rk ORI E L, 22 AWG /0.3 (mm2)min

FPM-212/215/217 series



Contents

Chapter 1

11
1.2

13
14
1.5
16

Chapter 2

21

Appendix A

Al
A2

A3

FPM-212/215/217 series

General Information .......coovvevveiveniennen. 1
oL i foTe [F]ox i o] o NP OO UPPPRTPPPRN 2
SPECIFICALIONS ...eeeiiee e 2
N R 7= o 1=T | IO PPPPPTPR 2
1.2.2  TOUCRSCIEEN ...ttt et e et e e e e e eeenes 2
LCD SPECIfICALION. ...ceiiiiieeii it 3
(070] o1 g 1=Tox (o] ¢ TP PST R 3
INTEITACE ... e 4
DIMENSIONS ..ttt ettt et e e e e e e e e e e e e e e e e e e eeeeeeaeeaaaaeeas 4

1.6.1 12" Model DIMENSIONS .......oviitiriiitieieee e 4

1.6.2 15" Model DIMENSIONS ........ooviivi i 5

1.6.3 17" Model DIMENSIONS ........covi it 5

Mounting Methods.......ccc.oceiiiiiiiinnnnnnn. 6

Mounting the MONITOL .........ooiiiiiiiie e 7
2.1.1 Panel MOUNTING ....ccieiiiiiiiiiie ettt e 7
2.1.2 Wall MOUNTING. .. tttiiiieeiiiiie et a e 8
2.1.3 Desktop Stand MoUNtiNg ......cccceeiiiiiieiiiiiee e 9
2.1.4 VESA MOUNEING. .. .tiiiiiiaiiiiiiie et 10
2.1.5 Power Adapter Bracket Mounting(Optional) ...........cc.ccoecvvveeeeeninneen. 11
Touch screen .....ooevviiiiiiiice, 12
INEFOTUCTION <.ttt 13
Touchscreen Specifications (12"/15"/177) c...veovieeiiiieie e 13
A.2.1 Typical Optical FEAUrES ........ccoiiiiiiiiiie e 13
A.2.2 Electrical SPecifiCations ...........coocuveeiiiiiiiiiiieeee e 13
A.2.3 Environment Specifications............cccovvveeiiiiiiiiiiiiec e 13
Installing Driver for WINdOWS OS ........c..coiiiiiiiiiiiiieiiieee e 14




Chapter

General Information

Sections include:

W Introduction
Specifications
LCD Specification
Connectors
Dimensions




1.1

In 10T and Industry 4.0, more and more customers need data to be visualized to
help process management and decision making. The FPM-212/215/217 series is an
industrial-grade monitor with sleek, simple lines and a true-flat touchscreen.
Equipped with durable resistive touch control and an IP66-rated front bezel, FPM-
212/215/217 series is designed for intuitive operation in industrial environments such

1.2

1.2.1

1.2.2

as smart factory and machine automation display applications.

Specifications

FPM-200 series

Construction Die-cast aluminum
Front Panel Die-cast aluminum - IP66
Video Port HDMI/VGA/DP

Mounting Panel

Stand, Wall, Panel and VESA arm (75 x 75mm)

FPM-212 Dimensions

(W xHxD)311.8 x 238.0 x 53 mm (12.27 x 9.37 x 2.08 in)

FPM-215 Dimensions

(W x H x D) 383.2 x 307.3 x 53.20 mm (15.08 x 12 x 2.09 in)

FPM-217 Dimensions

(W x H x D) 410.4 x 343.4 x 54 mm (16.15 x 13.51 x 2.12 in)

Specifications

FPM-200 series

Type 5-wire analog resistive

Interface usB

Light Transmission Above 75%

OS Support Windows XP, Vista,7, 8,10,XPe and Linux

FPM-212/215/217 series



1.3

1.4

Specifications 12" LCD 15" LCD 17" LCD
(LED Backlight) (LED Backlight) (LED Backlight)
7 Display Type XGA TFT LCD XGATFT LCD SXGA TFT LCD
Display Size 12" 15" 17"
Max. Colors 16.2M Max 16.2M Max 16.7M Max
Resolution 1024 x 768 1024 x 768 1280 x 1024
View Angle (H/V°) 178°(V), 178°(H) 176°(V), 176°(H) 170°(V), 170°(H)
Luminance 600 cd/m? 300 cd/m? 250 cd/m?
Storage Temperature  -20 ~ 60 °C -20~60°C -20 ~ 60 °C
Operating Temperature 0 ~50°C 0 ~50°C 0 ~50°C
Contrast Ratio 1000:1 2000:1 1000:1
Backlight Life 50,000 hr 50,000 hr 30,000 hr

The following connectors are situated on the bottom side of the FPM-212/215/217 :

DP or HDMI port

DP or HDMI port Connected with a standard DP or HDMI connector thru I/O port of
this unit. located on the bottom side of the system unit.

VGA Port (DB-15)

DB-15 connector can be connected to the system via the external 15-pin DB-15
connector located on the bottom side of the system unit.

Touchscreen Connector (USB)

This connector will be present only if a touchscreen is installed and it must be
connected to the USB port of the PC. The touchscreen cable is included with all
orders.

DC 12 V Power Input Connector
This connector must be connected to DC 12 V power supply.

Please note before connecting the monitor and PC with HDMI /
DP or VGA cable:
1. If PC has installed operating system, please confirm its portrait
frequency is within the acceptable range.

2. If PC has installed operating system, users need to adjust the
portrait frequency to be within the acceptable range.

3 FPM-212/215/217 series



1.5 Interface

The arrangement of the 1/O ports is shown in Figure 1.1.

VESA Mount

HDMI Port] VGA Port GND

DC Jack 12Voc  Display Port  Touch Screen{USB) Panel Mount

Figure 1.1 FPM-200 - I/O Port Arrangement

1.6 Dimensions
1.6.1 12" Model

FPM-212-R8AE Dimensions

iy Al
IT o= Ee 1l
180
311.8 301.4
o0
2472 12126 3
(3]
ffz
o .
735
) -1
=] x| @ 3
] Bl 2 P
2 8 & \ . 8§
-
— - o -
r¢_|

Panel Cutout Dimensions: 303 x 229 mm (11.93 x 9.02 in)

Figure 1.2 FPM-212 Dimensions

FPM-212/215/217 series 4



1.6.2 15" Model

FPM-215-R8AE Dimensions

180

lifa nll

= =
[ s | s |
3832
306.1
—|
= 5
[ L]
[——" =
115 115
[ I ]
T oo oo slo
L ‘Heam=so]

180

Panel Cutout Dimensions: 374.5 x 298.5 mm (14.74 x 11.75in)

Figure 1.3 FPM-215 Dimensions

1.6.3 17" Model

FPM-217-R8AE Dimensions

iy 0l

130 | 130

4104
3379
Lt I
cil e
& &
[
130 130
1
oo ol oo
Lo cEle il = = § J

210

53.2
w72 3729
17
56.9
Igé . . Qi
o
u|
[ of =
1™ - [ L
75
-.— L]
w
L o
. z
° o
- .
L) ——— - =
|_,__: -
|3 L L] .
54
{28 399.9
17 704
B ® ® o] |
i
~
[ o
al | '
]
r 75
= L]
w0 <
(]
° . ® 2
.
2 ———— - -
[ o
o ® ° ®

Panel Cutout Dimensions: 401.3 x 334 8 mm (15.80 x 13.18 in)

Figure 1.4 FPM-217 Dimensions

FPM-212/215/217 series



Chapter

Mounting Methods

Sections include:

B Panel Mounting

B Wall Mounting

B Desktop Stand Mounting
B VESA Mounting

B Power Adapter Bracket Mounting
(Optional)




2.1

The FPM-200 series can be mounted in many different ways. The versatility of
the FPM-200 enables it to be mounted on your desk or anywhere else.

La série FPM-200 peut étre montée de différentes maniéres. La polyvalence
du FPM-200 lui permet d'étre monté sur votre bureau ou ailleurs.

211

If you need to install the FPM-212/215/217 series in a panel, release the mounting
brackets by detaching 4 screws on rear side and fix them on the top and bottom
with screws.To implement the panel mount completely, it requires 10 clampers with
M4 * 25mm screws.

Si vous devez installer la série FPM-212/215/217 dans un panneau, libérez les
supports de fixation en détachant 4 vis situées a l'arriere et fixez-les en haut et
en bas a l'aide de vis. Pour réaliser complétement le montage sur panneau, il
faut 10 pinces avec M6 * 21mm des vis.

Panel Mounting (1]

Figure 2.1 Panel Mounting

Panel Mounting

10 clampers with M4 * 25mm screws.
Diameter of screw = M4 min.

Length of screw = 25.0 min.

Montage sur panneau

10 pinces avec vis M4 * 25 mm.
Diametre de la vis = M4 min.
Longueur de la vis = 25.0 min.

7 FPM-212/215/217 series



2.1.2

If you need to install the FPM-212/215/217 in the wall, you can use FPM-1000T mounting kit
which is offered as an optional accessory for FPM-212/215/217.You need to secure this metal
bracket to the wall first then fasten the FPM-212/215/217 with the included screws. The metal
bracket holds the FPM-212/215/217 to the wall to complete the wall mounting.

Please refer to Figure 2.2 and follow the following steps to mount FPM-212/215/217 on a wall:

Si vous devez installer la série FPM-212/215/217 dans le mur, vous pouvez utiliser le kit de
montage FPM-1000T qui est proposé comme accessoire optionnel pour FPM-
212/215/217.Vous devez d'abord fixer ce support métallique au mur, puis fixer le FPM-
212/215/217avec les vis incluses. Le support métallique maintient le FPM-212/215/217 au mur
pour terminer le montage mural.

Veuillez vous référer a la figure 2.2 et suivre les étapes suivantes pour monter le FPM-
212/215/217 sur un mur:

Wall Mounting (1]

Figure 2.2 Wall Mounting

Wall Mounting

Screw to fix mounting kit
Diameter of screw = M4.
Length of screw = 6-10 mm
Montage mural

Vis pour fixer le kit de montage
Diametre de vis = M4.
Longueur de vis = 6-10 mm

FPM-212/215/217 series 8



2.1.3

If you have to opt for the desk mount stand, you also can use FPM-1000T mounting
kit and secure the stand with 2pcs M4 screws to the desk for attachment of the mount
to the FPM-212/215/217.

(p.s FPM-1000T Mounting kit is offered as an optional accessory for FPM-212/215/217.)

Si vous devez opter pour le support de montage sur bureau, vous pouvez également utiliser le
montage FPM-1000T kit et fixer le support avec 2 vis M4 au bureau pour la fixation du support

au FPM-212/215/217.

(p.s Le kit de montage FPM-1000T est proposé comme accessoire optionnel pour le FPM-
212/215/217.)

Desktop Stand [ 1]

Figure 2.3 Desktop Stand Mounting

Desktop Stand Mounting

Screw to fix mounting kit (2 pcs)
Diameter of screw = M4.

Length of screw = 6-10 mm

Montage du support de bureau
Vis pour fixer le kit de montage (2 piéces)
Diametre de vis = M4.

Longueur de vis = 6-10 mm

9 FPM-212/215/217 series



2.1.4

If VESA mounting is preferred, FPM-212/215/217 is a VESA MIS-D, 75, C compliant display
equipped with 75 x 75 mm square hole pattern, use M4 screws for attachment of the mount to
the FPM-212/215/217

Si le montage VESA est préférable, le FPM-212/215/217 est un écran conforme a la norme

VESA MIS-D, 75, équipé de perforations carrées de 75 x 75 mm. Utilisez des vis M4 pour fixer
le support au FPM-212/215/217.

VESA Mounting

VESA Mounting Hole%

Trous de montage ————
VESA

Figure 2.4 VESA Mounting

Warning! Use suitable mounting apparatus to avoid risk of injury.

Remarque! Utiliser un appareil de montage approprié pour éviter tout risque de
blessure.

Warning! VESA screw mounting specifications: M4. Depth of the screw hole: 6 mm
(Max.).

Remarque! Spécifications de montage de la vis VESA: M4. Profondeur du trou de
vis: 6 mm (max.).

> P BB

FPM-212/215/217 series 10



215

To secure and avoid power adaptor from hanging, a metal bracket is offered as an
optional accessory for FPM-215 and FPM-217.This metal bracket can be mounted on

the back of the monitor in 2 simple steps:

Adaptor bracket Installation guide

Figure 2.5 Power Adapter Bracket Mounting

1. Place the metal bracket on top of the power adapter and position it against the
dedicated holes
2. Secure the metal bracket with the included screws and metal bracket installation

Is complete

11 FPM-212/215/217 series



Appendix A

Touchscreen




Al

A.2

A21

A.2.2

A.2.3

The FPM-212/215/217 touchscreen uses advanced 5-wire resistive technology. It
provides more accurate sensing capacity than other technologies. The touchscreen
is specially designed for tough industrial environments, and has been approved to
FCC Class A standards.

Specification 12" 15" 17"

Light Transmission Above 75% Above 75% Above 75%
Haze < 1% < 1% < 1%
Specification 12" 15" 17
Operation Voltage 5.5V or below 5.5V or below 5.5V or below

Contact Current

70 mA (Maximum)

70 mA (Maximum)

70 mA (Maximum)

Specification 12" 15" 17’
Operating Temperature 0°C ~ +50°C 0°C ~ +50°C 0°C ~ +50°C
Storage Temperature - 20°C ~ +60°C - 20°C ~ +60°C -20°C ~ +60°C

Humidity

10%~95%, non-condensing

13

FPM-212/215/217 series



A.3

The touchscreen has drivers for Windows 7/8/10 and ADV Linux users. The FPM-
212/215/217 series need to install Penmount 6000 driver. Please go to below
website to download Penmount 6000 driver then install the driver into your system.
https://support.advantech.com/support/new_default.aspx
https://support.advantech.com/support/new_default.aspx

FPM-212/215/217 series 14


https://support.advantech.com/support/new_default.aspx

ADMNTECH

Enabling an Intelligent Planet

www.advantech.com

Please verify specifications before quoting. This guide is intended for reference
purposes only.

All product specifications are subject to change without notice.

No part of this publication may be reproduced in any form or by any means,
electronic, photocopying, recording or otherwise, without prior written permis-
sion of the publisher.

All brand and product names are trademarks or registered trademarks of their
respective companies.

© Advantech Co., Ltd. 2019


http://www.advantech.com/



